5. (6 points) Suppose a producer has determined that its cost function, measured in dollars,
is given by C(x) = 1000 + 10x where x is the number of units produced and sold. The
firm’s revenue function, in dollars, is given by R(x) = 200x - ¥%x".
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b. Specify the margmal profit for any x.
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d. What is the producer’s maximum proﬁt‘7 How many units pe6duced and sold yield
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6. (7 points) The population of a city is increasing at the rate given by P’(t) = 2000e"%",

where t is time in years from the beginning of 2000 and P(t) is the population of the city t
years after the beginning of 2000, z2°/,

a. At what rate was the population growing at the begmmng 0f 20037
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p\ b. Show ho to use mte ation to help you determine the change in population from the

/ (J‘ beglnmng 0f 2000 and the beginning of 2004.
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c. What was the c1ty s population at the beginging of 20007
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